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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Write name of Sulphur containing Amino Acids.

		  gë’$a ¶w³V A‘rZmo Aåbm| H$m Zm‘ {b{IE&

	 (ii)	 What is respiratory Quitents (R.Q.)? Write R.Q. of 
carbohydrate fats and proteins.

		  ídgZ JwUm§H$ ³¶m h¡? H$m~m}hmBS´>oQ>, dgm, àmoQ>rZ H$m ídgZJwUm§H$ 
{b{IE&

	 (iii)	 What is Synaptic fatigue?

		  {gZopßQ>H$ WH$mZ ³¶m hmoVr h¡?

	 (iv)	 Define Abzymes with example.

		  E~OmB‘§g H$mo CXmhaU g{hV g‘PmBE&

	 (v)	 What is epitopes and how it is different from paratope?

		  EnrQ>mon ³¶m h¡ Ed§ ¶h noamQ>mon go {H$g àH$ma {^ÝZ h¡?

	 (vi)	 Which layer of eye ball responsible for eye colour?

		  Am±Im| H$m {d{^ÝZ a§J O¡go H$mbm, ^yam, Zrbm, ZoÌJmobH$ Ho$ {H$g 
ñVa Ho$ H$maU {XImB© XoVm h¡?

	 (vii)	Write the name of Vitamin act as cofactor.

		  Cg {dQ>m{‘Z H$m Zm‘ {b{IE Omo ghH$maH$ (cofactor) H$s Vah 
H$m¶© H$aVm h¡&

	 (viii)	Arthritis is an example of Immunological disorder or 
disease. How?

		  AW©amB{Q>g EH$ à{Vajr VÝÌ go gå~pÝYV {~‘mar h¡, H¡$go?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Describe competitive inhibition of enzymes with suitable 

examples.

	 EÝOmBåg H$s à{VñnYm©Ë‘H$ g§X‘Z (competitive inhibition) {H«$¶m H$mo 
¶mo½¶ CXmhaUg{hV g‘PmBE&

3)	 Discuss the B-oxidation of fatty acid. Where this reaction 

occure?

	 dgm Aåbm| H$s ~rQ>m-Am³grH$aU (B-oxidation) H$mo g‘PmBE, ¶h 
{H«$¶m H$hm± na gånÝZ hmoVr h¡?

4)	 What is Synaptic transmission. Give the difference between 

chemical and Electrical Transmission.

	 {gZopßQ>H$ g§MaU ³¶m h¡, amgm¶{ZH$ Ed§ {dÚwV g§MaU ‘| ³¶m A§Va h¡?

5)	 What is Hamberger’s phenomenon? What is role of chloride 

shift in CO2 transport in blood?

	 hoå~aJa àH«$‘ ³¶m h¡? a³V ‘| CO2 n[adhZ ‘| ³bmoamBS> {dñWmnZ ³¶m 
h¡?
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6)	 Write short notes on / {Q>ßnUr H$s{OE&
	 (i)	 Natural killer cells.

		  àmH¥${VH$ {H$ba H$mo{eH$m
	 (ii)	 Mast cells

		  ‘mñQ> H$mo{eH$m

7)	 What we find out from complement fixation test? Explain it.

	 H$åbr‘oÝQ> {’$³goeZ Q>oñQ> go h‘ ³¶m nVm H$aVo h¢? dU©Z H$s{OE&

8)	 Can you suggest some reason for low immune response to 
malarial parasite? Why has no successful vaccine against 
malaria been developed till date?

	 ‘bo[a¶m naOrdr Ho$ {déÕ H$‘ à{Vajr CÕrnZ H$m ³¶m H$maU h¡? A^r 
VH$ ‘bo[a¶m Ho$ {Ibm’$ EH$ g’$b Q>rHo$ H$m {Z‘m©U ³¶m| Zht hþAm?

9)	 Write note on following techniques. 

{ZåZ{b{IV VH$ZrH$m| na boI {b{IE&

	 (i)	 Radio immunoassay.

		  ao{S>¶moBå¶yZmoEgo ({d{H$aU à{Vajr Om±M)
	 (ii)	 ELISA.

		  E{bgm &
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Describe the Glycolysis and oxidative decarboxylation with its 
regulation and energetics. What is the end product of glycolysis 

in the absense of O2 and why?

	 ½bmBH$mobmB{gg Ed§ Am°³grH$mar {dH$m~m}³grH$aU H$m dU©Z H$s{OE& gmW 
hr BgH$m {Z¶‘Z Ed§ D$Om© CËgO©Z ~VmBE& ½bmBH$mobmB{gg H$m O2 H$s 
AZwnpñWVr ‘| A§{V‘ CËnmX ³¶m hmoVm h¡ Ed§ ³¶m|?

11)	 Describe the mechanism of hearing. Give details?

	 gwZZo H$s {H«$¶m{dYr H$m dU©Z H$s{OE&

12)	 Discuss about major Histocompatibility complex in mouse in 
details.

	 Myho ‘| nmB© OmZodmbr MHC àmoQ>rZ Ho$ ~mao ‘| dU©Z H$s{OE&

13)	 Write short note on / {Q>ßnUr {b{IE&
	 (i)	 Immuno electrophoresis

		  Bå¶yZmoBbo³Q´>mo’$moao{gg
	 (ii)	 ELISA and it type.

		  ELISA Ed§ BgHo$ àH$ma


